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Consider the design of a counter with the following repeated binary
sequence: 0, 1, 2, 4, 5, 6, using three JK flip-flops A,, A, and Aq.
Which of the following corresponds to the input equation of A;?
(A=A, K=A,

(B =Ag, K=Ag

O =Ag, K=1

;(D)J =A, K=1 (903 X #F#t)
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Present State Next State
A, A, Ao A, A Ao JA, KA,
0 0 0 0 0 1 0 X
0 0 1 0 1 0 1 X
0 1 0 1 0 0 X 1
0 1 1 X X X
1 0 0 1 0 1 0 X
1 0 1 1 1 0 1 X
1 1 0 0 0 0 X 1
1 1 1 X X X
it A
JA, :
AA,
A, 00 01 11 10
0 1 X X
1 1 X X
JA] = Ao
KA, :
AA
Ay 00 01 11 10
0 X X X 1
1 X X X 1
KA] = ].
KB 2

In the following, you're asked to design an Arithmetic Logic Unit(ALU)
needed in a CPU.
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